I. W/C: 30.03.2020
Task |: Log in to Purple Mash:

e Math Task: Problem Solving (4 Operations)
o Math Game: Multiplication

Task 2: Log on to Rockstars and test yourself. Below is also a paper version.

1 1826 = 11 24+6= 21 8+6= 3 Be6= 4 s2+6=
3 Wee= 12 6347= i1 Bi+6= 32 0+7= 42 s4e6=
3 18+6= 13 S6e7= 23 42+47= 3 6+6= 43 647=
4 4746 = 14 §3+?=_ 24 35+F=— 34 35+E=_ 44 54.-_.5=—
5 B+6= 15 a2+6=_ 33 70+7= (3 72+46= 45 7472
6 B6+6= 16 24+6= 48 36+6= 36 3g+6=_ 46 28+7=
7 MeT = 17 EE+E=_ 27 44+7= 37 ?EI+'."=_ 47 T47=
8 17+7= 18 42+7=__ 8 S4+6=___ 3 6+46= 48 7246=
9 |ro= 19 Bro= 29 G+6= 38 4246= 49 63472
10 14+7m 20 12+46= 30 3547=_ 40 s6+7= 50 2ga7=

Task 3: Use your knowledge of place value to compare .and order numhbers. Justify
Mour reasoning.

I. Jane is asked to write some numbers in order from least to greatest.

Here is her solution:

L 427 123, 4 472123, 4 197

ls she correct or incorrect? Justify.

2. Use these inequality symhols <=#> only once to compare these rumbers.

| 098 823 1 097 945
| 355 823 | 355 823
7 215 703 7 214 704

5 4l 522 5 411 529




I. W/C: 30.03.2020
3. Two foothall team .are comparing the number of fans who attended their stadium last season. The
attendance at Emirates was | 670 234 fans. The attendance at Old Trafford was | 680 234 [ans.

Which team had more fans .at their stadium? Explain why.

Task 4: Use yowur knowledge of the 4 .operations to w.ork out the Lollowing
Questions.:

n 1097 - 100 = n _§+%:

n 146 x 2 = n 420 + 6 =
n 74+ 16= n 12.8 x 10 =
n 42x2= 13 R

H 616 + 742 = n 40,000 - 600 =
n 6x4= E 80 x[_] = 1600
302 -8 = 4,200 + 60 =
n 16+ 4.26 = 30% of 1,200 =
n 3x G x4= 123 x 5=




